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Directions: - v
e Answer all the questions in the space provided.
o Show all necessary working, Where more than one mark is allocated to a question, full
marks may not be awarded for answers only.
o Marks may not be awarded for careless or badly arranged work.
e Calculators may be used




Question 3
For the following line find
" a) the y - intercept

b) the gradient

) the equation of the line

Question 4

For the points A (3, 2)and B (if 5) find

a) the exact distance between A and B

b) the gradient of the line joining A and B

c) the midpoint of the line AB

d) " the equation of the line AB in general form

Question 1 - Marks
On the same number plane, draw the graphs of the following lines. (Label each line) 4
—
a) y=2x+1 T
b)  x+2y=6
49
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Question 2
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Forthe'line 2x—y=6 find

a)  the y-intercept .

b) the x - intercept

c) the gradient
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Question 7

Write the equation of the circle which has a radius of 3 units and has the
centre at the origin.

Question 8
For the parabola y=x? —~6x+8 find

a) the y— intercept

b) the x — intercepts

c) the axis of symmetry
d) the co-ordinates of the vertex
e) Sketch the curve showing all relevant features

Question 5

For the following equations write whether the graphs are
hyperbolas, circles, exponentials or cubic functjons.

traight lines, paxabolas
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Question 6
Sketch the following
a) y=-x _b 2yt =4 .
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Questian 10

" Find the surface area of; the following

a)
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TC = 9cm
PQ = SR =l6cm
QR =PS = 10cm
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““‘-‘M.«_‘,\./ K .

28cm

Question 9

VA

A group of Year 10 students achieved the following scores in a Maths test.

p gy w [ o LD

58

a) Draw a stem and leaf plot to show this information

b)  Findthe 0 mode

4

G

iy . mean

iif)  median -
J—

iv) range

P—————

v) interquartile range

vi)  standerdd eviation

cdata., —

Describe the shape of the data. —

Jerry scored 34 in this Maths exam and scored 35 in his History exam, which had.
an average of 50 and a standard deviation of 10. Which exam did he perform
better in? Justify your answer.




Question 12

a) Approximately how many spherical balls of diameter (.5cm could be made
from a melted down cube of side length Sem?
\Q‘kﬂ‘{\j‘"*”““wﬁm SU e
b)

The volume of a sphere is 398m°. Find the diameter of the sphere correct
to 3 significant figures.

Question 11

Find the volume of the following

a) 25cm
D \
85em| '| --------------------------
| 10.9cm
28.Gcm‘.__//(j
3.4
b)
o) X
‘-_‘ TL = §cm
; LM = 10cm
LR =4cm

MQ =9%cm
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: ) uestion 1 - Marks
Forthe following line find Q 6 \ ! <
: \i On the same number plane, draw the graphs of the following lines. (Label each line) 4
the y - intercept { & R.- 0 \ . :
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a) y=2x+1
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For the points A (-3,2) and B (2 5) find
a) the exact distance between A and B 2
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Question 7

Write lhe equation of the circle which has a radius of 3 units and has the

centre at the origin.
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Question 8
For tﬁe parabola y=x* -6x+8 find

a) the y— intercept
Y=0~0+Y

y=9 -

© b) the x — intercepts
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~e)  the axis of symmetry »
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d) the co-ordinates of the vertex
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&) Sketch the curve showing all relevant features
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Question 5
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For the following equations write whether the graphs are strai hit lines, parabolas,
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hyperbolas, circles, exponentials or cubic fu1yt'ons. 0
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Sketch the following
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Question 10

Find the surface area of the following
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Question 9
A group of Year 10 students achieved the following scores in a Maths test. 5 4
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a) Draw a stem and leaf plot to show this information - 4
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b) Find the i) mode
i) mean L6 'd\ "\ !
iii) median -

v) range

v) interquartile range
vi) standard deviation W ‘Z“C)YZ
c) Describe the shape of the data. (
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d) Jerry scored 34 in this Maths exam and scored 35 in his History exam, which had . 3

an average of 50 and a standard deviation of 10. Which exam did he perform
better in? Justify your answer.
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Nuestion 12 .

a) Approximately how many spherical balls of diameter 0.5cm could be made
. from a melted down cube of side length Sem? :
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b) The volume of a sphere is 398m?. Find the diametet of the sphere correct
to 3 significant figures.
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Question 11

Find the volume of the following

a) 25cm

8.5cm

3-68-5,¢ [09=166.7 7

(2=0x23) - (1 xG>2%)

2760 ~ 1267 < / %
=lu72 gn ™ : _




